

NAME: AGHATISE OSATAMEN STEPHANIE

DEPARTMENT: MEDICINE AND SURGERY

COLLEGE: MEDICAL AND HEALTH SCIENCE

MATRIC NO: 19/MHS04/053

COURSE CODE: MAT 104

Assignment

1. $\int \frac{11-30x}{(x^2+2x-3)} dx$

factorise x^2+2x-3

$$= (x-1)(x+3)$$

$$\frac{11-30x}{(x-1)(x+3)} = \frac{A}{(x-1)} + \frac{B}{(x+3)}$$

$$\frac{11-30x}{(x-1)(x+3)} = \frac{A(x+3) + B(x-1)}{(x-1)(x+3)}$$

$$11-30x = A(x+3) + B(x-1)$$

when $x = -3$

$$11 - 30(-3) = A(-3+3) + B(-3-1)$$

$$20 = 0 + -4B$$

$$20 = -4B$$

$$B = \frac{20}{-4}$$

$$= -5$$

$$B = -5 //$$

$$\int \frac{5}{(x+1)} dx = \int \frac{5}{u} du$$

$$= 5 \int \frac{1}{u} du$$

$$= 5 \ln u + C //$$

$$= -1 \ln u + C + 5 \ln u + C$$

$$= -1 \ln(x-3) + C + 5 \ln(x+1) + C$$

$$= -1 \ln(x-3) + 5 \ln(x+1) + C //$$

$$3. \int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A}{x+1} + \frac{B}{x-2} + \frac{C}{x+3}$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)}{(x+1)(x-2)(x+3)}$$

When $dx = -3$

$$\int \frac{1}{u} du = \ln|u| + C$$

$$\ln 4 + C$$

$$\ln(x+3) + C$$

$$\therefore 4 \ln(x+1) - 3 \ln(x-2) \ln(x+3)$$

$$+ C$$



when $x = -3$

$$2(-3)^2 - 9(-3) - 35 = A(-3-2)(-3+3) + B(-3+1)(-3+3) + C(-3+1)(-3-2)$$

$$10 = 10C$$

$$C = \frac{10}{10} = 1$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx = \int \frac{4}{x+1} dx + \int \frac{-3}{x-2} dx + \int \frac{1}{x+3} dx$$

For $\int \frac{4}{x+1} dx$

$$u = x+1, \quad \frac{du}{dx} = 1, \quad du = dx$$

$$4 \int \frac{1}{u} du = 4 \ln u + C = 4 \ln(x+1) + C$$

For $\int \frac{-3}{x-2} dx$

$$u = x-2, \quad \frac{du}{dx} = 1, \quad du = dx$$

$$-3 \int \frac{1}{u} du = -3 \ln u + C = -3 \ln(x-2) + C$$

For $\int \frac{1}{x+3} dx$

$$u = x+3, \quad \frac{du}{dx} = 1, \quad du = dx$$

$$3. \int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A}{(x+1)} + \frac{B}{(x-2)} + \frac{C}{(x+3)}$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)}{(x+1)(x-2)(x+3)}$$

$$2x^2 - 9x - 35 = A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)$$

When $x = 2$

$$2(2)^2 - 9(2) - 35 = A(2-2)(2+3) + B(2+1)(2+3) + C(2+1)(2-2)$$

$$-45 = 15B$$

$$B = \frac{-45}{15} = -3 //$$

when $x = -1$

$$2(-1)^2 - 9(-1) - 35 = A(-1-2)(-1+3) + B(-1+3) + C(-1+1)(-1-2)$$

$$-24 = -6A$$

$$A = \frac{-24}{-6} = 4 //$$

when $f(-1)$

$$4(-1) - 16 = A(-1+1) + B(-1-3)$$

$$-4 - 16 = 0 - 4B$$

$$\frac{-20}{-4} = \frac{-4B}{-4}$$

$$B = 5 //$$

Substitute for value $A = -1$ and $B = 5$

$$\frac{4x-16}{(x-3)(x+1)} = \frac{-1}{(x-3)} + \frac{5}{(x+1)}$$

$$\int \frac{4x-16}{(x-3)(x+1)} dx = \int \frac{-1}{(x-3)} dx + \int \frac{5}{(x+1)} dx$$

For $\int \frac{-1}{(x-3)} dx$

Let $u = x-3$, $\frac{du}{dx} = 1$, $du = dx$

$$\int \frac{-1}{(x-3)} dx = \int \frac{-1}{u} du$$

$$= -1 \int \frac{1}{u} du$$

$$= -1 \ln u + C //$$

For $\int \frac{5}{(x+1)} dx$

Let $u = x+1$, $\frac{du}{dx} = 1$, $dx = du$

$$\int \frac{-5}{(x+3)} dx = \int \frac{-5}{u} du$$

$$= -5 \int \frac{1}{u} du$$

$$= -5 \ln u + C$$

$$= 2 \ln u + C + (-5 \ln u + C)$$

$$= 2 \ln u + C - 5 \ln u + C$$

$$= 2 \ln (x-1) + C - 5 \ln (x+3) + C$$

$$= 2 \ln (x-1) - 5 \ln (x+3) + C$$

2. $\int \frac{4x-16}{(x^2-2x-3)} dx$

factorise $x^2 - 2x - 3$

$$= (x-3)(x+1)$$

$$\frac{4x-16}{(x-3)(x+1)} = \frac{A}{(x-3)} + \frac{B}{(x+1)}$$

$$\frac{4x-16}{(x-3)(x+1)} = \frac{A(x+1) + B(x-3)}{(x-3)(x+1)}$$

$$4x-16 = A(x+1) + B(x-3)$$

when $x=3$

$$4(3) - 16 = A(3+1) + B(3-3)$$

$$12 - 16 = 4A + 0$$

$$-4 = 4A$$

$$A = \frac{-4}{4}$$

$$A = -1$$

when $f(+1)$

$$11 - 3(1) = -A(1+3) + B(1-1)$$
$$8 = 4A + 0$$

$$\frac{4A}{4} = \frac{8}{4}$$

$$A = 2$$

Substitute for value $A = 2$ and $B = -5$

$$\frac{11 - 3x}{(x-1)(x+3)} = \frac{2}{(x-1)} + \frac{-5}{(x+3)}$$

$$\int \frac{11 - 3x}{(x-1)(x+3)} = \int \frac{2}{(x-1)} dx + \int \frac{-5}{(x+3)} dx$$

For $\int \frac{2}{(x-1)} dx$

let $u = x-1$, $\frac{du}{dx} = 1$, $dx = du$

$$\int \frac{2}{(x-1)} dx = \int \frac{2}{u} \cdot du$$

$$= 2 \int \frac{1}{u} du$$

$$= 2 \ln u + C$$

For $\int \frac{-5}{(x+3)} dx$

let $u = x+3$, $\frac{du}{dx} = 1$, $dx = du$